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2. OTABCD = Aol o3 IHIH} Zo] /CAB =
60°, /ABC = 75°, BC =6cm € o, 2CAD, AD &2

A D
60°
75
B C
@ 35° 6cm @ 40°, Tem @45°, 6cm
@ 55°, 6cm ® 55°, Tem

LCAD = 180° — (75° + 60°) = 45° ,
AD = BC = 6cm




o}, /BAC =70°

@ ‘ABC @):acB ® (EAC

Zo]l5 HJoervg /BAC = /DAC = 70° ©|t}. /DAC =
(ACB (91Z}) o]t}
w2t /BAC = /ACB ©]t}.
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5.

AB = 5cm, DC = 5cm, /B = 55°, 2,C = 125°

o




& 2} Zol BPAEY Yro] ¢ A P S
1:11:19] Ho]_g] 61—_‘9__‘_)

A D
P :\\
l\
7
I
B\\\G_—’/C
® 5 @ 10 @15 @ 20

B

APAD + APBCo|tt.
BRG] Hol7t 5% 6 = 300|122

APAB 4 APCD = % x 30 =15

o] g 3 poj tistod %DABCD = APAB + APCD =




7. o2 ™83 Zo] LA =90° 91 A 271 ABC oA BlHH o S-S
M o|g} 5}#F, LABC = 32° 4 o], zx o] 37]=2
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® 60° @ 62° 3)64° @ 66° ® 68°
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2bAr2 g o] o] F291 A M2 €410 B2 MB = MA =
NC ot}

AABM 2 o|SHIAZIEo|B 2 (- MB = MA)

/MBA = /MAB = 32°

T Uz o2 U A ]t o] ezte] A7)t gong
(AMC = /MBA + /MAB = 32° + 32° = 64° o|t}.




